Subject: Re: Defining categories of high risk fertility
Posted by Liz-DHS on Fri, 12 Aug 2016 17:02:00 GMT

View Forum Message <> Reply to Message

Response from Dr. Tom Pullum:
It appears that you are asking for the addition of a "no risk™ variable. You only need to replace the
last three lines of what | sent earlier with the following:

* No risk is the residual
gen no_risk=0
replace no_risk=1 if unavoidable_risk==0 & any_avoidable_risk==0

* Give results
format %6.3f too* single* multiple* any* un* no*
mean no un too* single* multiple* any [iweight=v005/1000000]
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